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( May )

CHEMISTRY

( Discipline Specific Elective )

( For Honours and Non-Honours )

Paper : DSE-6.1

Inorganic Materials of Industrial Importance )

£ KT Full Marks : 53
£11 •— Pass Marks: 21

^ m Time ; 3 hours
^  The figures in the margin indicate full marks

for the questions

1 1. f^wrm ^ : ix5=5
Choose the correct answer from the

following :

(a) SIR ^ f^«I I

Glass is a mixture of

(i)

non-metallic silicate
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( 2 )

(U)

metallic silicate

(Hi)

metallic acetate

(iu)

non-metallic acetate

(b)

Fullerene is composed of

(i)

graphene sheet

(ii) ^

benzene

(Hi) W(i

carbide

(W) ^

nitride

(c) 1^. 9\. %

PPC stands for

(i)

Portland Plaster Cement
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(3 )

(U)

Portland Possalana Cement

(Hi)

Portland Primary Cement

(iu)

Portland Poljnner Cement

(d) ̂

The example of a strai^t fertilizer is
(i)

urea

(ii)

potassium phosphate

(Hi)

nitrophosphate

(w)
diammonium phosphate

(e) ̂  (?FHc5t
Which of the following batteries is used
for aircraft?

(i)

Lead-acid battery
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( 4 )

Nidcei-ironb^^g^

cell battery

saver oxide battery

Unit—-I

Wnte the ch^rr.- ,

ftl -•' ■' P"^°Pertie8 of glass.
^tlssodalim .of it. glass? >Vrite n«te one use

2x4= '.S

glass.

(d) ^®'"ns!s tibri, .
What are the colou?'^^^'coloured glass? ^^g agents used in

( 5 ),

3. T55i^ 2RR?im ^ • 3x2=6
Answer the foUowing questions (any twdi :
(a)

What is nanooxide ceramic? Write one
use of it.

(b) ^ »ra®-a=n^ '
Write the manufacturmg process of
carbon fibres.

Ic) ,
1SWI.

What are semiconductors? Wnte the
example of semiconducting oxides.

What is setting of cement? How are Portland
cement manufactured?

UNIT—II

5. ^ ̂  ' 2x2=4

Answer the foUowing questions :
(a) ^ ^ '

What is mixed fertilizer? Give one
example.
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I s6 )

(b) SIW5-a«l1% ^ I

Wnfe about the manufacture of
ammonium phosphate.

6.

Write a note on normal superphosphate.

7. ̂  W <^ mO : 2X4=
Answer the foUowing questions (any/cm, :
(a)

What are binder<« i« ^ •
Write RMmpi.. ® industry?

(b)

^p^ »e thinners? with

(c)

What are the advon^
coating? ^vantages of surface

■a

(d) ^

What do you mean by pigment?

8
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( 7 )

(e) ^'
What is fire-retardant paint? Give one
example.

UNIT—IV

8. (a) 2
^ >

Explain the difference between prunary
and secondary cells with examp e .

(b) ^ (?FmTP4Pi^1®Pn'
Write the advantages of fuel ceU.

UNTT—V

9. 3x3=9

Write Short notes on the foUowing (any
three) :

(a)
Argon treatment

(b) ^
Non-ferrous alloys
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18 )

(c)

Demanganization

(d)

Stainless steel,

10. ^ ̂ .

Fill in the blank:

Kg iron contain,

★★★
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